Scaffolding at Dobcroft Infant
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Concrete is the ‘doing’ stage. using
concrete objects lo solve problems. it
brings concepts to life by allowing
children to handle physical objects
themselves

Pictorial is the 'seeing slage,
using representations of the objects
involved in maths problems. This
siage encourages children to make
a mental connection between the

Abstract is the ‘'symbolic’ stage,
whare children are able lo use
sbsiraci symbols to modsel and
solve maths problems

physical object and abstract levels
of understanding, by drawing or
looking at pictures, circles,
diagrams or models which
represent the objects in the
problem,

At Dobcroft Infant School, we follow a mastery approach. Children are exposed to the same skill in their maths lessons. Those
who benefit from further support may access the activity with additional scaffolding, whilst still working to develop their
understanding of the same skill.

Scaffolding is when learning is broken up into more manageable ‘chunks’, and a resource, picture, or additional teaching are
accessible to ensure that children develop their conceptual understanding of each key skill. At Dobcroft, scaffolding may take one
of many forms, some of which are listed below;

e Pre-teaching vocabulary before the lesson so that children understand when it is used in whole class teaching.

e Staff modelling the activity so that children can see exactly what they need to do in a visual way before they have a go
themselves.

e Talking about prior knowledge. What do we know already that can help us here?
e Allowing time for processing the new skill, and to talk through their understanding with peers or an adult.

e Using resources to support children to visually represent their ideas, such as unifix cubes, dienes rods, compare bears,
numicon, etc.

How might this be seen in lessons?

In the following addition activity, children have been asked to match the visual representations to the equations, and to talk
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about their understanding by justifying their choices.
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3+5=8

8+3=10

2+1=3
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2+3=5

8+1=9

2+2=4

6+4=10

In the second version, the task has been scaffolded by reducing the number of representations given, and by offering some
completed matches. This reduces the demand of the task and allows children to focus on conceptual understanding.
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